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RV
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SUSz 7+
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PP H
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BIRY —h P 69.8 + 1.0 + 14.0 84.8 | m
[ %]
RYTF L E iR T ¢ 50 69.8 69.8 | m
¢ 40 1.0 1 m
613 14.0 140 | m
ok %N
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Viryh
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Vv PR
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PP
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EREET
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+ T % & £ () (1-1T.1X)
+Th47° 1-1 HiE As PP ¢ 50 DP=0.90m
+ TR L= 66.3 = 66.3 m

< W P
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S

T

i pRfiET

| RC-40 S

!

i

5 W | #EEIE] 0.600

a [ D1 [#&4M%| 0.060
= £ e AR EEM — pP_ | +#9 [ 0.900
g RC-40 < H1 [ #m#izE]  1.060
i H2 | A& ]  1.020
IR hl | HEHT 0.410
iz—F h | # & 0.460
[ ok
! 8
i EI}\ A
i al <
—
! 8
! v
¢D
( 66.3 m YVEE)
4 PR G2 N 7 " =Y B =
EEEG) T As, t=15cmBLF 2.00 X 66.3 m 132.6
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 66.3 m? 39.8
B mE T M mE L+ 0.60 X 1.020 X 66.3 m® 40.6
A B T RC-40 0.60 X 0.410 X 66.3 m® 16.3
BRI RE T b ( 0.60 X 0.460 — 0.060 2 X x,/4)X 66.3 m? 18.1
E R O R
F&E AR wWHEL 40.60 — ~ 0.9 m? 40.6
7 AT 7 )L N As 0.60 X 0.04 X 66.3 m® 1.6
R BEIE S NEH As m’ 1.6
TETRIEE - L5 T 0.023 X 0.04 X 132.6 m® 0.12
A T RC-40, t=16cm 0.60 X 66.3 m? 39.8
A RIEAs(13)
#ET t=3cm 0.60 X 66.3 m? 39.8




+ T % & £ () (1-1T.1X)
+Th47° 1-3 HiE As PP ¢ 13 DP=0.65m
+ TR = 45 +9.5 = 14.0 m

< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
i Eﬁﬁl A
| RC-40 E
!
i A
5 W | #EEIE] 0.600
a [ D1 [#&4M%| 0.022
= £ e AR EEM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | #AlE] 0.732
‘gmr | ERRT—T hi || 0.160
iz—k v h | # & 0422
[ ok
! 8y
i EI}\ A
E =
—
. 8
! v v
¢D
( 14.0 m YH7z0EE)
4 PR G2 N 7 " =Y B =
EhAE O T As, t=15ecmPL F 2.00 X 14.0 m 28.0
SEEBEUELREGAT|  As, t=10emPLF 0.60 X 14.0 m> 8.4
BRI T R WE 1 0.60 X 0.732 X 14.0 m 6.1
LR T RC-40 0.60 X 0.160 X 14.0 m® 1.3
BRI RE T I ( 0.60 X 0422 — 0.022 2 X x,/4)X 14.0 m? 3.5
e R R
F&E AR wWHEL 6.10 — ~ 0.9 m® 6.1
RIS B & As 0.60 X 0.04 X 14.0 m® 0.34
PR As m® 0.34
T VEEE - /L4y T 0.023 X 0.04 X 28.0 m® 0.03
% T RC-40, t=16cm 0.60 X 14.0 m? 8.4
A RIEAs(13)
#ET t=3cm 0.60 X 14.0 m? 8.4




(1-1 T.X)

+ T % & £ (Wb

+Th47° 3-1 iE Co PP ¢ 50 DP=0.90m
+ TR = 3.5 = 3.5 m
< L >
BEE%Co t=10cm EEl | BR RIEIH BEZHiAs t=3cm
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!
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i
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5 W[ #EHIE]  0.600
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= g2 ° WHIEA] BRM - pp_| 4| 0.900
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i H2 | #EAIE]  0.960
1B hl [$E54| 0.400
iz—k v h | # & 0.460
! oﬂ
i S
~N B| —
l | =
—
! 8
! v v
¢D
( 3.5 m HhHE)
4 PR G2 N 7 " =Y B =
EhAE O T Co, t=15cmLA T 2.00 X 3.5 m 7.0
SRLEREUE LA T|  Co, t=10cmLL T 0.60 X 3.5 m2 2.1
BRI T R WE 1 0.60 X 0.960 X 3.5 m 2.0
LR T RC-40 0.60 X 0.400 X 3.5 m® 0.8
BRI RE T I ( 060 X 0.460 — 0.060 2 X x,/4)X 3.5 m? 1.0
e R R
F&E AR wWHEL 2.00 — = 0.9 m® 2.0
RIS B & Co 0.60 X 0.10 X 3.5 m® 0.2
PRV Co m’ 0.2
T VEEE - /L4y T 0.023 X 0.10 X 7.0 m® 0.02
% A T RC-40, t=17cm 0.60 X 3.5 m® 2.1
A RIEAs(13)
FET t=3cm 0.60 X 3.5 m® 2.1




(1-1 T.X)

+ T % & £ (Wb

+Th47° 3-2 iE Co PP ¢ 40 DP=0.65m
+ TR = 1.0 = 1.0 m
< L »|
BEE%Co t=10cm EEl | BR R1EI18 BAEZEHAs t=3cm
o
=] N . V/ S
!
i Eﬁﬁl A
| RC-40 R
i
i A
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.048
= g2 ° WHIEA] BRM - pp_| 4| 0.650
| RC-40 < H1 [#miizE] 0.798
i H2 | A& ]  0.698
1B hl [$E5#| 0.150
iz—k v h | # & 0448
[ ok
i 34
i 6’}\ A
i al <
—
! 8
! v v
¢D
( 1.0 m Y47=0¥EE)
4 PR G2 N 7 " =Y B =
EhAE O T Co, t=15cmLA T 2.00 X 1.0 m 2.0
SRLEREUE LA T|  Co, t=10cmLL T 0.60 X 1.0 m2 0.6
BRI T R WE 1 0.60 X 0.698 X 1.0 m 0.4
LR T RC-40 0.60 X 0.150 X 1.0 m® 0.1
BRI RE T I ( 060 X 0448 — 0.048 2 X x,/4)X 1.0 m? 0.3
e R R
I I W+ 0.40 — ~ 0.9 m® 0.4
a7 — RS ALEE Co 0.60 X 0.10 X 1.0 m® 0.1
R BEIE S NEH Co m® 0.1
T VEEE - /L4y T 0.023 X 0.10 X 2.0 m® 0.00
B ME T RC-40, t=17cm 0.60 X 1.0 m? 0.6
A RIEAs(13)
#ET t=3cm 0.60 X 1.0 m? 0.6




1-1TX (R

&%) T/KEE) PP ¢ 40

B 5B

g 1 Je Ot B K

ER ) Hikg B B W
[#44]
Ry =F L ¢ 40 17.2 172 | m
$20 3.4 3.4 m
PP /LR $ 40 1 1 &l
¢ 20 2 2 E]
PVYAroh $20 1 1 &l
PP
HRL KR 640X ¢ 20 1 1 &l
~ PPBRALED
=k L7 ¢ 40 1 1 I
LRI TR ¢ 40 17.2 17.2 m
[95%]
RY=F L A% T ¢ 40 17.2 17.2 m
$ 20 3.4 3.4 m
i BN
PPk T ¢ 40 1+ 2 3 m]
TR Virvk A%
¢ 20 4 + 2 + 1 7 A
PP
S KRR U T 40X ¢ 20 1 1 P
R F L EHET 650 69.9 69.9 | m
¢ 40 172 + 5.6 228 | m
$20 3.4 3.4 m
613 17.6 176 | m
R)TF LB G T ¢ 50 69.9/6 - 1 11 =
¢ 40 17.2/6 - 1 2 5]
¢ 50 ¢ 40 ¢ 20 613
BT 69.9 X 1.216 + 22.8 X 0.788 + 3.4 X 0.269 + 17.6 X 0.184 107.1 | kg
ik LR e
AT T $ 50 1 X 2910+ 5 X 3170 + 1 X 2.660 21.4 kg
=k LR F—=
¢ 40 3 X 1.100 + 2 X 2155 + 1 X 3.160 10.8 kg
Vo LR
$ 20 1 X 0545 + 2 X 0.490 1.5 kg
Vo LR
¢ 13 6 X 0.375 + 16 X 0.340 7.7 kg
it 41.4 kg
[N $ 40X ¢ 20 sk $50X ¢ 13
BRAITT 1 X 1.80 + 6 X 1.70 12.0 kg
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+ T % & &

+TAA7 | AER1-1 HiEHEE Co PP ¢ 20 DP=0.30m
+ TR = 3.4 = 3.4 m
< L »|
BEE%Co t=10cm EEl | BR RIEIH BEZHiAs t=3cm
o
=] N . V/ S
!
| pemET
| RC-40 R
! A
i 'Y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i Hl | #EAl&] 0.227
| he  [3EEH| 0.127
i h | &
|
i _
=
( 3.4 m HY7=hHE)
4 PR G2 N 7 " =Y B =
EAERR B Co, t=15emLL T 2 X 3.4 m 6.8
SHEERRBUELFHAT|  Co, t=10cmPA T 0.60 X 3.4 m> 2.0
BRI T Mg WE 1 0.60 X 0.227 X 3.4 m 0.5
A BT RC-40 ( 060 X 0.127 — 0.027 2 X z/4)X 3.4 m® 0.3
R
FA TR WE+ 0.50 m® 0.5
) — MR ALER 0.60 X 0.10 X 3.4 m® 0.20
MR AR e Co m’ 0.20
TETRIEE - L5 T 0.023 X 0.10 X 6.8 m®| 0.016
BEAE T RC-40, t=17cm 0.60 X 3.4 m> 2.0
A RIFEAs(13)
*/g t=3cm 0.60 X 3.4 m? 2.0




+ T % & &

+TH47° | FEI-1 HEEE As PP ¢ 20 DP=0.30m
+ TR = 3.4 = 3.4 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 R
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
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g RC-40 < H | #igE] 0.327
i H2 | #AIE] 0.297
| h2 | MR 0.127
! h W @&
|
i
=
( 3.4 m Y-0EKE)
4 PR G2 N B =Y B =
EAERR B Co, t=15emLL T
SHEERRBUELBGA T  As, t=10ecmPLF 0.60 X 3.4 m> 2.0
BRI T Mg WE 1 ( 0.60 X 0.297 — 0.027 2 X x,/4)X 3.4 m? 0.6
IR T RC-40 0.60 X 0.127 X 3.4 m® 0.3
TR
FA TR WE+ 0.60 m® 0.6
7 A7 7 )L N 0.60 X 0.03 X 3.4 m® 0.06
MR AR e As m’ 0.06
15 VRER - L T
AR T RC-40, t=17cm 0.60 X 3.4 m> 2.0
A RIFEAs(13)
*g t=3cm 0.60 X 3.4 m® 2.0
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+ T % & &

+TH47° | fE1-2 HEEE As PP ¢ 13 DP=0.30m
+ TR = 3.0 = 3.0 m
< L >
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S I , / S
]
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!
i y
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i H2 | #AIE] 0.292
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! h W @&
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i
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( 3.0 m HhHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmL T
SHEERRBUELBGA T  As, t=10ecmPLF 0.60 X 3.0 m> 1.8
BRI T Mg WE 1 (0,60 X 0.292 — 0.022 2 X x,/4)X 3.0 m? 0.5
IR T RC-40 0.60 X 0.122 X 3.0 m® 0.2
TR
FA TR WE+ 0.50 m® 0.5
7 A7 7 )L N 0.60 X 0.03 X 3.0 m® 0.05
MR AR e As m’ 0.05
15 VRER - L T
AR T RC-40, t=17cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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+ T % & &

+TH47° | fE1-3 HEEE As PP ¢ 40 DP=0.30m
+ TR = 3.0 = 3.0 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
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| RC-40 R
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
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g RC-40 < H | #iE] 0.348
i H2 | A& ] 0.318
| h2 | MR 0.148
! h W @&
|
i
=
( 3.0 m Y/-0EE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmL T
SHEERRBUELBGA T  As, t=10ecmPLF 0.60 X 3.0 m> 1.8
BRI T Mg WE 1 ( 060 X 0318 — 0.048 2 X x,/4)X 3.0 m? 0.6
IR T RC-40 0.60 X 0.148 X 3.0 m® 0.3
TR
FA TR WE+ 0.60 m® 0.6
7 A7 7 )L N 0.60 X 0.03 X 3.0 m® 0.05
MR AR e As m’ 0.05
15 VRER - L T
AR T RC-40, t=17cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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12X, 2L (&

%) T/KEMBLI PP¢50, 40 B - HH

W B K O B

4 Mk 5 B EMr
[&41]
2TX
RV zF LA ¢ 50 56.6 56.6 | m
12T
$ 40 57.0 570 | m
12T
$ 20 2.6 2.6 m
2TX
¢ 13 1.2 + 28 4.0 m
2TX
PPF—= 650X ¢ 50 1 1 ]
12T
PPV 4k 640 1 L A
12T
PV b ¢ 20 1 1 1
2TX
¢ 13 3 3 1
ey ito) 2T
V7 — A LA $ 50 2 2 1
s 2T
lanIEi= JWWA B 132 1 x 2 2 !
B INZA
PR25 (K) 2 X 2 4 1
R
RA25(A) 1 x 2 2 1
TR EE
RC25(C) 1 x 2 2 1
JEEJR
RS25(S) I x 2 2 1
SUS=a 7 £ 2T
MFYaA b $ 50 4 4 1
DIP% M 2T
BRIy KR ¢ 150X ¢ 50 1 1 1
PP H 2T
$50X ¢ 13 3 3 &
PP H 12T
$40X ¢ 20 1 1 i
12T X 2T.X
~—H—Hht 1o+ 5 6 | fA
TILHE L AEL | 12T ¢ 50 20 21X ¢ 50 613
EHHRY —h T 57.0 + 2.6 + 56.6 + 4.0 120.2 | m
2T
PR AKEAF Yy ¢ 50 1 1 J[E
[55%]
AT F LSRR L ¢ 50 56.6 56.6 | m
$ 40 57.0 57 m
$ 20 2.6 2.6 m
¢ 13 4.0 4.0 m
F— B Xxv7
PPt T ¢ 50 3 0+ 1+ 1 5 u]
ok
$ 40 2 2 m]
Vi avig
$ 20 2 o+ 1 3 m]
YR
¢ 13 3 3 8]
DIP% H
Gy AR E T $ 150X ¢ 50 1 1 T
PP JT]
50X ¢ 13 3 3 |
PP ]
$40X ¢ 20 1 1 &7
EREET
iR iE T ¢ 50 2 2 &
A= ANVHTFTL ¢ 50 4 4 m]
T UHEET. ¢ 65LL 4 4 5]
FRY—hT 120.2 120.2 | m
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+ T % & £ b (1-2T.1X)
+Th47° 1-2 HiE As PP ¢ 40 DP=0.65m
+ TR L= 173 = 17.3 m

< W P
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| BT 1
| RC-40 S
!
i A
5 W | #EEIE] 0.600
a [ D1 [#&4M%| 0.048
= £ e AR EEM — DP | +#0 [ 0.650
g RC-40 < H1 [#miizE] 0.798
i H2 | A& ]  0.758
1B EHRRT— hl | HEHT] 0.160
iz—k v h | # & 0448
[ ok
! 8
i EI}\ A
E =
—
. 8
! v v
¢D
( 17.3 m Y720 E)
4 R G2 N 7 B =Y B =
EhAE O T As, t=15ecmPL F 2.00 X 17.3 m 34.6
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 17.3 m? 10.4
B mE T M mE L+ 0.60 X 0.758 X 17.3 m® 7.9
LR T RC-40 0.60 X 0.160 X 17.3 m® 1.7
BRI RE T b ( 0.60 X 0.448 — 0.048 2 X x,/4)X 17.3 m? 4.6
e R R
F&E AR wWHEL 7.90 — ~ 0.9 m® 7.9
7 AT 7 )L N As 0.60 X 004 X 17.3 m® 0.42
R BRI B As m’ 0.42
T VEEE - /L4y T 0.023 X 0.04 X 34.6 m® 0.03
% T RC-40, t=16cm 0.60 X 17.3 m? 10.4
A RIEAs(13)
#ET t=3cm 0.60 X 17.3 m? 10.4
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+ T %% & F& (#h) (1-2T.X)
+Th47° 3-2 iE Co PP ¢ 40 DP=0.65m
+ TR L= 39.7 = 39.7 m

< W P
BEE%Co t=10cm EEl | BR RIEIH BEZHiAs t=3cm
o
=] N . V/ S

T

| pRmET

| RC-40 R

!

i

5 W | #EEIE] 0.600

a [ D1 [#&4M%| 0.048
= g2 ° WHIEA] BRM - pp_| 4| 0.650

| RC-40 < H1 [#miizE] 0.798

i H2 | A& ]  0.698

IR hl | H#EHT] 0.150

iz—k h | # & 0448

! oﬂ

| o

~N B —A

l s| =

—

! 8

! v

¢D

( 39.7 m Y7WEE)
4 PR G2 N 7 " =Y B =
EhAE O T Co, t=15cmLA T 2.00 X 39.7 m 79.4
EREREUELURSAT]  Co, t=10cmbd T 0.60 X 39.7 m? 23.8
B mE T M mE L+ 0.60 X 0.698 X 39.7 m® 16.6
A B T RC-40 0.60 X 0.150 X 39.7 m® 3.57
BRI RE T b ( 0.60 X 0.448 — 0.048 2 X x4 )X 39.7 m? 10.6

E R O R
F&E AR wWHEL 16.60 — ~ 0.9 m® 16.6
a7 — RS ALEE Co 0.60 X 0.10 X 39.7 m® 2.38
R BRI B Co m’ 2.38
TETRIEE - L5 T 0.023 X 0.10 X 79.4 m® 0.18
A T RC-40, t=17cm 0.60 X 39.7 m? 23.8

A RIEAs(13)

#ET t=3cm 0.60 X 39.7 m? 23.8
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+ T % & £ () (1-2T.1X)
+Th47° 3-3 iE Co PP ¢ 20 DP=0.65m
+ TR = 2.6 = 2.6 m

< L »|
BEE%Co t=10cm EEl | BR R1EI18 BAEZEHAs t=3cm
o
=] N . V/ S
!
i Eﬁﬁl A
| RC-40 R
i
i A
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.027
= 2| ° WY 2RM - pP_[ 40 [ 0.650
| RC-40 < H1 [#miEgE] 0.777
i H2 | #AIE] 0.677
1B hl [$E5#| 0.150
iz—k v h | # & 0427
! oﬂ
| o
~N B |
l | =
—
! 8
! v v
¢D
( 2.6 m Y-0EE)
4 R G2 N 7 " =Y B =
EhAE O T Co, t=15cmLA T 2.00 X 26 m 5.2
SRLEREUE LA T|  Co, t=10cmLL T 0.60 X 2.6 m2 1.6
BRI T R WE 1 0.60 X 0.677 X 2.6 m 1.1
LR T RC-40 0.60 X 0.150 X 2.6 m® 0.23
BRI RE T I ( 060 X 0427 — 0.027 2 X x,/4)X 26 m? 0.66
e R R
FAE AR wE+ .10 — ~ 0.9 m? 1.1
a7 — RS ALEE Co 0.60 X 0.10 X 2.6 m® 0.16
R BRI B Co m’ 0.16
T VEEE - /L4y T 0.023 X 0.10 X 5.2 m® 0.01
% T RC-40, t=17cm 0.60 X 2.6 m? 1.6
A RIEAs(13)
#ET t=3cm 0.60 X 2.6 m? 1.6
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+ T % & £ (b (2TX)
+Th47° 1-1 HiE As PP ¢ 50 DP=0.90m
+ TR L= 56.6 = 56.6 m

< W P
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S

T

i pRfiET

| RC-40 S

!

i

5 W | #EEIE] 0.600

a [ D1 [#&4M%| 0.060
= £ e AR EEM — pP_ | +#9 [ 0.900

g RC-40 < H1 [ #m#izE]  1.060

i H2 | A& ]  1.020

IR hl | HEHT 0.410

iz—F h | # & 0.460

[ ok

i 8

| M| —X

i al <

—

! 8

! v

¢D

( 56.6 m Y7-WEE)
4 PR G2 N 7 " =Y B =
EEEG) T As, t=15cmBLF 2.00 X 56.6 m 113.2
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 56.6 m? 34.0
B mE T M mE L+ 0.60 X 1.020 X 56.6 m® 34.6
A B T RC-40 0.60 X 0.410 X b56.6 m® 13.9
BRI RE T b ( 0.60 X 0.460 — 0.060 2 X x,/4)X 56.6 m? 15.5

E R O R
F&E AR wWHEL 34.60 — ~ 0.9 m? 34.6
7 AT 7 )L N As 0.60 X 0.04 X b56.6 m® 1.4
de B AR As m’ 1.4
TETRIEE - L5 T 0.023 X 0.04 X 113.2 m® 0.10
A T RC-40, t=16cm 0.60 X 56.6 m? 34.0

A RIEAs(13)

#ET t=3cm 0.60 X 56.6 m? 34.0
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+ T % & £ (b (2TX)
+Th47° 1-3 HiE As PP ¢ 13 DP=0.65m
+ TR L= 1.2 +2.8 = 4.0 m

< L »|
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S

T

i Eﬁﬁl A

| RC-40 S

!

i A

5 W | #EEIE] 0.600

a [ D1 [#&4M%| 0.022
= £ e AR EEM — DP | +#0 [ 0.650

g RC-40 < H1 [#mEigE] 0.772

i H2 | #AlE] 0.732

‘gmr | ERRT—T hi || 0.160

iz—k v h | # & 0422

! oﬂ

i S

‘ B —4%

| E -

—
. 8
! v v
¢D
( 4.0 m Y7-0EE)
4 PR G2 N B =Y B =
EhAE O T As, t=15ecmPL F 2.00 X 4.0 m 8.0
SHISRRBUELEGAT]  As, t=10ecmBA T 0.60 X 4.0 m?® 2.4
BRI T R WE 1 0.60 X 0.732 X 4.0 m 1.8
A B T RC-40 0.60 X 0.160 X 4.0 m® 0.4
BRI RE T I (060 X 0422 — 0.022 2 X x,/4)X 4.0 m? 1.0
E R O R
F&E AR wWHEL 1.80 — ~ 0.9 m® 1.8
7 AT 7 )L N As 0.60 X 0.04 X 4.0 m® 0.1
de B AR As m’ 0.1
T VEEE - /L4y T 0.023 X 0.04 X 8.0 m® 0.01
% T RC-40, t=16cm 0.60 X 4.0 m? 2.4
A RIEAs(13)
#ET t=3cm 0.60 X 4.0 m? 2.4

19




12T, 2TK, 3T (Az%) TAKEHEM PP¢50-40

B8

% R JHKE B I B O B K ¥R |
[&#1]
12T 21X 3L
AR)zFLE ¢ 50 6.3 + 22 + 594 + 2.0 + 67.0 136.9 | m
121X
¢ 40 29.4 294 | m
2T
$ 20 0.6 0.6 m
2T 3T
613 1.2+ 112 + 81 + 1.2 217 | m
121X
PPF—2 650X 50 1 1 1
2TX 3L
PPV ok ¢ 50 1+ 2 3 1"
1-2T.X
¢ 40 1 1 1
2T
PVY 4 yb ¢ 20 1 1 1
2T 3T
613 6 + 5 11 il
121X
PPREAE/ ok 50X ¢ 40 1 1 1
12T PARES
PP /LA ¢ 50 2+ 3 5 1
eyl 12TK  3TK
V7 — A TS ¢ 50 1+ 1 2 i)
12X 2T X
FCD#A -1 Fp ¢ 50 1+ 1 2 i)
#h#E 12T 2TIX 3TIX
HEnFpfE JWWA B 132 1 x 2 + 1 + D 4 il
REEY
PR25 (K) 2 x (2 + 1 + 1 8 1
RE
RA25(A) 1 x 2 + 1 + D 4 1
TR
RC25(C) 1 x @2 + 1 + 1 4 fi&@
JEERR
RS25 (S) 1 x 2 + 1 + D 4 1
SUS=t 7 £F 1-2T X 2TIX 3T
MFYaA 2k ¢ 50 4 + 2+ 2 8 1
DIPE H 1-2 TR
YRSy kAR $ 200X ¢ 50 1 1 i@
PP H 2TIX
50X ¢ 20 1 1 1"
PP 2K 3L
650X ¢ 13 6 + 5 11 1
12T 2T 3L
~—h—Hi 2 + 7T + 5 14| {4
TV EL | 1-2 LK ¢50 40 21X ¢ 50 $20 613 3L ¢50 613
FEHRY—b DO 85 + 294 + 614 + 0.6 + 124 + 67.0 + 9.3 188.6 | m
1-2T. X
RS Ry ¢ 50 1 1 1"
[95%]
RYTF LR T $ 50 136.9 136.9 | m
¢ 40 29.4 294 | m
$ 20 0.6 0.6 m
613 21.7 21,7 | m
F=x Yok TR v ¥y
PPAET T. ¢ 50 3 0+ 7 + 10 + 1 + 1 22 8]
Yiroh
¢ 40 3 3 5]
Vb PR
¢ 20 2 o+ 1 3 a
Vv S
613 22+ 11 33 5]
DIPE H
Sy KIS T $ 200X ¢ 50 1 1 T
PP ]
50X ¢ 20 1 1 £33l
PPAE ]
650X ¢ 13 11 11 fEPT
ERREET Y7k FCD
N FpaRiE T ¢ 50 2+ 2 4 EPT
A= IV T ¢ 50 8 8 5]
TV E T 6654 8 8 5]
EHRS—R L 188.6 188.6 | m
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T & & £ (HW (2L, 3LIX)

+T 447" 1-1 HiiE As PP ¢ 50 DP=0.90m
2TIX 3T.IX
+ TR L= 59.4 +1.2 +67.0 = 1276 m
< W >
BES%As t=4om B | BR R BAEZEHAs t=3cm
S "\ , P 8
T
i | opRAET
| RC-40 g
!
i
| W | JEHIIE]  0.600
a i D1 [&4ME| 0.060
= £ e HmIEY  ERM - DP | 40 [ 0.900
g RC-40 < H1 | #EHEIE] 1.060
i H2 | #mEl&E|  1.020
ISR hl [#RE#| 0.410
Sk I h [# & 0.460
ok
S
69‘ {
E =
{
, S
! A v
\ @D
( 127.6 m YH70EE)

4 R iR NI R A it (=1 2V B &

ST As, t=15emLL F 2.00 X 127.6 m | 255.2
ERRELRGAT|  As, t=10cnbd T 0.60 X 127.6 m? 76.6

ERIEAI T ek mE 0.60 X 1.020 X 127.6 m? 78.1

TR T RC-40 0.60 X 0.410 X 127.6 m? 31.4

AR T 1 ( 0.60 X 0.460 — 0.060 2 X x,/4)X 1276 |m® 34.9

F TR T TR )

A A EW WE+ 78.10 — = 0.9 m? 78.1
T AT 7 L N ALER As 0.60 X 0.04 X 127.6 m? 3.1
R PETEY 2 N As m? 3.1
e E - 15y T 0.023 X 0.04 X 255.2 m? 0.2

A T RC-40, t=16cm 0.60 X 127.6 m? 76.6
AR B As(13)
#ET t=3cm 0.60 X 127.6 m? 76.6
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T+ T % & F (B (1-2L.X)
+T 447" 1-2 HiiE As PP ¢ 40 DP=0.65m
+ T E L= 4.4 = 4.4 m

< W >
BES%As t=4om B | BR R BAEZEHAs t=3cm
S "\ , P 8
T
i | opRAET
| RC-40 g
|
i
| W | JEHIIE]  0.600
a i D1 [&4ME| 0.048
= £ e HmIEY  ERM - DP | 40 [ 0.650
g RC-40 < H1 | #E#EIE] 0.798
i H2 [#EHI&| 0.758
B hl [#RE#] 0.160
—+ v h | # &l 0448
8‘
) 1
E =
{
, S
! A v
w
( 4.4 m Y7EVEE)

4 R iR NI R A 7 il 2V B &

AL T As, t=15ecmbd T 2.00 X 4.4 m 8.8
ERRELRGAT|  As, t=10cnbd T 0.60 X 4.4 m? 2.6

ERIEAI T ek mE 0.60 X 0.758 X 4.4 m? 2.0

TR T RC-40 0.60 X 0.160 X 4.4 m? 0.4

BT w (060 X 0448 — 0.048 > X 7,/4)X 4.4 m’ 1.2

F TR T TR )

FEA e WE+ 2.00 — = 0.9 m? 2.0
T AT 7 L N ALER As 0.60 X 0.04 X 44 m? 0.1
R PETEY 2 N As m? 0.1
15 VR - L 55 T 0.023 X 0.04 X 8.8 m®| 0.008

% i T RC-40, t=16cm 0.60 X 4.4 m? 2.6
AR B As(13)
#ET t=3cm 0.60 X 4.4 m? 2.6
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+ T %' £ (EHW

(2 LX)

+Th47° 1-4 HiE As PP ¢ 20 DP=0.65m
+ TR L= 0.6 = 0.6 m
< L »|
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % 3
!
i Eﬁﬁl A
| RC-40 E
i
i A
5 W[ #EHIE]  0.600
a [ D1 [#&4M%| 0.027
= 2| ° WY 2RM - pP_[ 40 [ 0.650
| RC-40 < H1 [#miEgE] 0.777
i H2 | #Al&] 0.737
‘gmr | ERRT—T hi || 0.160
iz—k v h | # & 0427
[ ok
i 8
‘ B —4%
| E -
—
. 8
! v v
¢D
( 0.6 m Y7-vEKE)
4 R G2 N 7 B =Y B =
EhAE O T As, t=15ecmPL F 2.00 X 0.6 m 1.2
SHISRRBUELEGAT]  As, t=10ecmBA T 0.60 X 0.6 m?® 0.4
BRI T R WE 1 0.60 X 0.737 X 0.6 m 0.3
A B T RC-40 0.60 X 0.160 X 0.6 m® 0.06
BRI RE T I ( 060 X 0427 — 0.027 2 X x,/4)X 0.6 m? 0.2
E R O R
F&E AR wWHEL 0.30 — = 0.9 m® 0.3
7 AT 7 )L N As 0.60 X 0.04 X 0.6 m® 0.1
R BEIE S NEH As m® 0.1
T VEEE - /L4y T 0.023 X 0.04 X 1.2 m®|  0.001
% T RC-40, t=16cm 0.60 X 0.6 m? 0.4
A RIEAs(13)
#E T t=3cm 0.60 X 0.6 m? 0.4
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+ T & F (HH) (2LX, 3LX)
+TH47° 1-3 il As PP ¢ 13 DP=0.65m
2TIX 3T.X
+TaE L= 1.2 +11.2 +8.1 +1.2 = 21.7 m
W P
BE%As t=4cm wE | EBER R#&EIA BAEZHAs t=3cm
< N ' % S
T
| pRAET
| RC-40 S
!
i A
| W | #EHIIE]  0.600
a i D1 [#4ME[ 0.022
= g = WAIEY | R — DP_| £# [ 0.650
g RC-40 < H1 [#@aElE[ o.772
i H2 | #HIS] 0.732
: hl HEAF| 0.160
i h | ®W & 0.422
( 21.7 m H7-0HEE)
4 PR R ST ik g il 2V B &
SEAEL T As, t=15emLL F 2.00 X 21.7 m 43.4
SRR BUE L RHA T As, t=10cmLL F 0.60 X 21.7 m? 13.0
EIRIH T e wE 1+ 0.60 X 0.732 X 21.7 m’ 95
IR T RC-40 0.60 X 0.160 X 21.7 m’ 2.1
BRI T W ( 0.60 X 0422 — 0.022 2 X x,/4)X 21.7 m’ 5.5
R WO
FEAE e WE+ 9.50 — = 0.9 m’ 9.5
T AT 7 L N ALER As 0.60 X 0.04 X 21.7 m’ 0.5
LR BEIE S NEHE As m’ 0.5
TH VRIS - W55 T 0.023 X 0.04 X 434 m’ 0.04
9 T RC-40, t=16cm 0.60 X 21.7 m? 13.0
AR B As(13)
#ET t=3cm 0.60 X 21.7 m? 13.0
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+ T %% & F& (#h) (1-2T.X)
+Th47° 3-2 iE Co PP ¢ 40 DP=0.65m
+ TIEE = 25.0 = 25.0 m

L »

BEE%Co t=10cm EEl | BR R1EI18 BAEZEHAs t=3cm
o
=] N . / S

]

| pEET

| RC-40 S

!

i F 3

5 W | #EEIE] 0.600

a [ D1 [#&4M%| 0.048
= £ e AR EEM — DP | +#0 [ 0.650

I RC-40 < H1 [#miizE] 0.798

i H2 | A& ]  0.698

IR hl | HEHT] 0.160

iz—k v h | # & 0448

! oﬂ

1 o

~N B| —

l s| =

—

! 8

! v v
\ oD

( 25.0 m Y7hEE)
4 R G2 N 7 B =Y B =
EhAE O T Co, t=15cmLA T 2.00 X 25.0 m 50.0
EREREUELURSAT]  Co, t=10cmbd T 0.60 X 25.0 m? 15.0
B mE T B R L 0.60 X 0.698 X 25.0 m® 10.5
LR T RC-40 0.60 X 0.160 X 25.0 m® 2.4
BRI RE T I ( 0.60 X 0.448 — 0.048 2 X g4 )X 25.0 m® 6.7

R B YR
368 - E R wWE 1+ 10.50 — = 0.9 m® 10.5
a7 — RS ALEE Co 0.60 X 0.10 X 25.0 m® 1.5
R BEIE S NEH Co m’ 1.5
T VEEE - /L4y T 0.023 X 0.10 X 50.0 m® 0.12
% T RC-40, t=16cm 0.60 X 25.0 m? 15.0

A RIEAs(13)

#E T t=3cm 0.60 X 25.0 m? 15.0
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T+ T % & F (B (1-2L.X)
+T 447" 2-1 HIE As PP ¢ 50 DP=0.90m
+ T E L= 6.3 = 6.3 m

< W >
BEERAs t=10cm R | BR R1E18 BAEZHiAs t=bcm
o
= AN | / 3
T
i | opRAET
| RC-40 S
!
i
| W | JEHIIE]  0.600
a i D1 [&4ME| 0.060
= £ e HmIEY  ERM - DP | 40 [ 0.900
g RC-40 < H1 | #EHEIE] 1.060
i H2 [#EHIE| 0.960
B hl [#E#| 0.280
—+ v h |# &l o0.460
8‘
) 1
E =
{
, S
! A v
\ @D
( 6.3 m 47-VEE)
4 R iR NI R A 7 il 2V B &
ST As, t=15emLL F 2.00 X 6.3 m 12.6
ERRELRGAT|  As, t=10cnbd T 0.60 X 6.3 m? 3.8
ERIEAI T ek mE 0.60 X 0960 X 6.3 m? 3.6
TR T RC-40 0.60 X 0.280 X 6.3 m? 1.1
BT w ( 0.60 X 0.460 — 0.060 > X x,/4)X 6.3 m’ 1.7
F TR T TR )
FEA e WE+ 3.60 — = 0.9 m? 3.6
T AT 7 L N ALER As 0.60 X 0.10 X 6.3 m? 0.4
FRBRAL Y B As m? 0.4
R PETEY 2 N 0.023 X 0.10 X 12.6 m®| 0.029
% i T RC-40, t=27cm 0.60 X 6.3 m? 3.8
AR B As(13)
#ET t=5cm 0.60 X 6.3 m? 3.8
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T+ T % & F (B (1-2L.X)
+T 447" 2-2 HIE As PP ¢ 50 DP=1.20m
EEEE
+ TR L= 1.0 = 1.0 m
< W >
BEERAs t=10cm R | BR R1E18 BAEZHiAs t=bcm
T
i | opRAET
| RC-40 S
!
i
| W | JEHIIE]  0.600
a i D1 [&4ME| 0.060
= £ e HmIEY  ERM - DP | 4 [ 1.200
I RC-40 < H1 | #EAEIE] 1.200
i H2 | #HI&] 1.100
: hl HEA| 0.580
i v h | # &]| 0.300
| ok
i S
M‘ {
E =
{
Oy v
( 1.0 m 4720EE)

4 iR NI R A 7 il 2V B &

AL T As, t=15ecmbd T 2.00 X 1.0 m 2.0
ERRELRGAT|  As, t=10cnbd T 0.60 X 1.0 m? 0.6

ERIEAI T ek mE 0.60 X 1.100 X 1.0 m? 0.7

TR T RC-40 0.60 X 0580 X 1.0 m? 0.3

R T 105 (060 X 0300 — 2 X g /4)% 1.0 m’ 0.2

F TR T TR )

FEA e WE+ 0.70 — = 0.9 m? 0.7
T AT 7 L N ALER As 0.60 X 0.10 X 1.0 m? 0.1
R PETEY 2 N As m? 0.1
15 VR - L 55 T 0.023 X 0.10 X 2.0 m®| 0.005

% i T RC-40, t=27cm 0.60 X 1.0 m? 0.6
AR B As(13)
#ET t=5cm 0.60 X 1.0 m? 0.6
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T T R K

+T 447" 1-5 TIEEE As PP ¢ 50 DP=1.20m
+ TR L= 1.0 = 1.0 m
W >
BES%As t=4om 1w | BR {R#EIA BAZHAs t=3cm
< )N | % S
T
ry : ﬂ%ﬁl
| RC-40 E
!
i A
i W | #EHIIE]  0.600
o i D1 |&4ME| 0.060
= £ = HIEY EBEH ~ DP | £ [ 1.200
I RC-40 < H | 1.260
i H2 | #HIS] 1.220
: h2 HEAT| 1.070
i h | &
|
|
=
( 1.0 m M47-0¥EE)
4 R iR N R A =1 =y B &
AR G0 As, t=15ecmPL T 2.00 1.0 m 2.0
SRERRBUELURSA T As, t=10emBA T 0.60 1.0 m? 0.6
B HRE T ek g+ ( 0.60 1.220 — 0.060 2 X x,/4)X 1.0 m’ 0.7
AR T RC-40 0.60 1.070 X 1.0 m’ 0.6
Jin
FEA WHE+ 0.70 m’ 0.7
T AT 7L N AL 0.60 0.04 X 1.0 m’ 0.1
BRI AN B As m? 0.1
VBRI - L5 T 0.023 0.04 X 2.0 m*| 0.002
T RC-40, t=16cm 0.60 1.0 m? 0.6
AR B As(13)
*/E t=3cm 0.60 1.0 m? 0.6
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